FgArea: [0 ]
NC11 P4
2025-05-16 (Day 42)







Warning: col ['FR'] missing

0.2 0.4 0.6

1.

Warning: col ['setVIl'] missing

0.0

0.4 0.6

1 (fgArea = NA)

3500

3000 -

2500

2000

1500

1000 ~

500

. A

—&— ECI*10%
—0— ECO

o

10 20
d

0

Warning: col ['FR'] missing

0.2 0.4 0.6

0.8 1.

Warning: col ['setVI'] missing

0.0

0.2 0.4 0.6

2 (fgArea = NA)

0.8 1.

3500 -

3000 -

2500 -

2000 -

1500

1000

500 ~

——
+

EC1%10%
ECO

10 20 30 40
d

0



—@&— PHI*10%

7.54 —®— PHO

7.0

6.5 -

6.0

—&— PHI*10%

7.54 —®— PHO

7.0

6.5 -

6.0

5.5

40

30

20

10

40

30

20

10
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Plot Sensor and FgRec Data
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Trend plot forP4 0
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